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A zero of x  + 64 is

(a) 0  (b) 4  (c) 4i  (d) -4

3

If f and g are polynomials of degrees m and n respectively, and if h(x) = (f  g)(x), then the degree of h is

(a) mn  (b) m+n  (c) m  (d) n

o 

n m

A polynomial equation in x of degree n always has

(a) n distinct roots  (b) n real roots  (c) n complex roots  (d) at most one root

If α, β and γ are the zeros of x + px + qx + r, then   is

(a)  (b)  (c)  (d) 
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According to the rational root theorem, which number is not possible rational zero of 4x + 2x - 10x - 5?

(a) -1  (b)  (c)  (d) 5
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The polynomial x - kx + 9x has three real zeros if and only if, k satisfies

(a) |k| ≤ 6  (b) k = 0  (c) |k| > 6  (d) |k| ≥ 6
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The number of real numbers in [0, 2π] satisfying sin x - 2sin x + 1 is

(a) 2  (b) 4  (c) 1  (d) ∞
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If x +12x +10ax+1999 definitely has a positive zero, if and only if

(a) a ≥ 0  (b) a > 0  (c) a < 0  (d) a ≤ 0
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The polynomial x + 2x + 3 has

(a) one negative and two imaginary zeros  (b) one positive and two imaginary zeros  (c) three real zeros  (d) no zeros
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The number of positive zeros of the polynomial  (-1) x  is

(a) 0  (b) n  (c) < n  (d) r
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If a, b, c ∈ Q and p +√q (p, q ∈ Q) is an irrational root of ax +bx+c = 0 then the other root is ___________

(a) -p+√q  (b) p-iq  (c) p-√q  (d) -p-√q
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The quadratic equation whose roots are ∝ and β is ___________

(a) (x - ∝)(x -β) = 0  (b) (x - ∝)(x + β) = 0  (c) ∝ + β =   (d) ∝ β = b
a
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If x is real and   then ________

(a)  ≤ k ≤  (b) k ≥ 5  (c) k ≤ 0  (d) none
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+x+1x2
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Let a > 0, b > 0, c > 0. Theh n both the root of the equation ax +bx+c = 0 are _________

(a) real and negative  (b) real and positive  (c) rational numbers  (d) none
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The equation  has ____________(a) no solution  (b) one solution  (c) two solution  (d) more than one solution− =x + 1
− −−−
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− −−−√ 4x − 1

− −−−−
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lf the root of the equation x  + bx + cx - 1 = 0 form an lncreasing G.P, then ___________

(a) one of the roots is 2  (b) one of the roots is 1  (c) one of the roots is -1  (d) one of the roots is -2
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For real x, the equation  has ________

(a) one solution  (b) two solution  (c) at least two solution  (d) no solution
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If the equation ax + bx+c = 0(a > 0) has two roots ∝ and β such that ∝ < - 2 and β  > 2, then __________

(a) b -4ac = 0  (b) b  - 4ac < 0  (c) b  - 4ac > 0  (d) b  - 4ac ≥ 0
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If  then x = _________

(a) 0, 2  (b) 0, 1  (c) 0, 3  (d) 0, √3

(2 + + (2 − =3√ ) −2x+1x2
3√ ) −2x−1x2 2

2− 3√

If ∝, β, ૪ are the roots of the equation x -3x+11 = 0, then ∝+β+૪ is __________.

(a) 0  (b) 3  (c) -11  (d) -3
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If x  - hx - 21 = 0 and x  - 3hx + 35 = 0 (h > 0) have a common root, then h = ___________

(a) 0  (b) 1  (c) 4  (d) 3
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If ax  + bx + c = 0, a, b, c  R has no real zeros, and if a + b + c < 0, then __________

(a) c > 0  (b) c< 0  (c) c=0  (d) c≥0
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If p(x) = ax  + bx + c and Q(x) = -ax  + dx + c where ac ≠ 0 then p(x). Q(x) = 0 has at least _______ real roots.

(a) no  (b) 1  (c) 2  (d) infinite
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For all x, x  + 2ax + (10 - 3a) > 0, then the interval in which a lies is _____________

(a) a < -5  (b) -5 < a < 2  (c) a > 5  (d) 2 < a < 5
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The set of all real numbers of x for which x  - |x + 2|+ x > 0 _________

(a)  (b)  (c)  (d) 

2

(−∞, −2) ∪ (2, ∞) (−∞, − ) ∪ ( , ∞)2√ 2√ (−∞, −1) ∪ (1, ∞) ( , ∞)2√

The number of real zeros of the polynomial function x  + 1 is ____________

(a) 1  (b) 0  (c) 2  (d) None of these
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A zero of the polynomial x  + 2x - i equals __________

(a) -i  (b) 1  (c) 1 - i  (d) None of these
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If   are the roots of a  then   equals _________

(a)  (b)  (c)  (d) 

α and β − bx − c = 0,x2 α + β

−b
a

−c
a

a

b
b
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If   are the roots of  then   equals _________

(a)  (b) -p  (c) q  (d) -q

α, β, γ + p + qx + r = 0x3 x2 αβ + βγ + γα

−p

q

A polynomial equation whose roots are 3 times those of the equation 2x  + 5x  + 7 = 0 is _____________

(a)  (b)  (c)  (d) None of these

3 2

3 − 15 + 21 = 0x3 x2 2 − 15 − 189 = 0x3 x2 2 + 15 − 189 = 0x3 x2

If  is a root of a reciprocal equation f(x) = 0 then another root of f(x) = 0 is _______

(a)  (b)  (c)  (d) 
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The equation x + 2x + 3 = 0 has __________3 
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(a) One positive real root  (b) One negative real root  (c) Three real roots  (d) None of these

Greatest possible number of real roots of  ___________

(a) 6  (b) 5  (c) 10  (d) None of these

− 10 − 5 + x + 4 = 0 is x10 x6 x3

The equation with rational co-efficients one of whose roots is   given by _____________

(a)  (b)  (c)  (d) 

+5√ 2√

− 14 + 9 = 0x4 x2 + 14 + 9 = 0x4 x2 − 14x + 9 = 0x4 + 14 − 9 = 0x4 x2

If 3 is a double root of the equation   then the third root is ___________

(a)  (b)  (c) 8  (d) -8

8 − 47 + 66x + 9 = 0x3 x2
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If   are roots of x +2x-6 = 0 then the value of   is _____________

(a) 0  (b) 2  (c) 6  (d) -4

α, β, γ 3 αβγ

If the product of the roots of 3x  - 4x  + 2x  + x + a = 0 is 21, then the value of a is _____________

(a) 7  (b) -7  (c) -63  (d) 63
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If  and   are the roots of the equation  then the value of   is ____________

(a)  (b)  (c)  (d) 

α, β, γ δ + p + q + rx + s = 0x4 x3 x2 ∑ 1
α

s
r − S

r

r
s

− r
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If   are the roots of the equation   then the value of   __________

(a)  (b)  (c)  (d) 

α, β, γ + ax − b = 0x3 ∑( )α

βγ
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b2 − 2a

b
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b
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The sum of the squares of the roots of   is ________________

(a)  (b)  (c)  (d) 

+ a − bx + c = 0x3 x2

+ 2ba2 + 2ba2 − 2cb2 + 2ca2

If the roots of the equation 4x  -24x  +23x + 18 = 0 are a-d, a and a+d then the value of a is __________

(a) 2  (b) 8  (c) 6  (d) -2
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lf a is a root of , then __________

(a) -a is also a root 1  (b)  is also a root   (c) 1 is a also a root  (d) None of these

− 2 + 6 + 2x − 1 = 0x4 x3 x2

1
a

If the roots of the equation  are 1, -2, 2 then the roots of  are ___________

(a) 1, -2, 2  (b)  (c) 1, 1, -2  (d) -1 , -2, 2

− − 4x + 4 = 0x3 x2 4 − 4 − x + 1 = 0x3 x2

1, − ,1
2

1
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A reciprocal equation a of  is said to be of second type if _____________

(a)  (b)  (c)  (d) 

+ + … + = 0a0xn a1xn−1 an

=an−r ar−1 =an−r ar+1 = −an−r ar =an−r ar

If  are the roots  , then the equation whose roots are  is ___________

(a)  (b)  (c) 

(d) 

α, β, γ + 3 + x − 4 = 0x3 x2 10α, 10β, 10γ

+ 30 + 10x − 40 = 0x3 x2 + 30 + 100x − 4000 = 0x3 x2 4 + 12 + 4x − 1 = 0x3 x2

10 + 30 + 10x − 1 = 0x3 x2
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